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News 432 [Science] Why Are Sloths Not Extinct? (2024-11-25)

Why Are Sloths Not Extinct? of LIFsE= BEEX fLta?
Sloths are famous for being the world'’s LIR2SEE MAOAM 7IE L8 ZRSEE 7
slowest mammal. F3l 2.
Although they move at slow speeds, they -1

are not at all lazy or stupid. o
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The sloths live in trees and travel only

about 40 meters per day. '
per day o Lmoix| AfO|E e HHS| O|E5}7

They move across tree branches so slowly _ N
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that predators cannot spot them easily.

The sloths depend on their slowness to oo syz=2 os) 150 Lalof o|=s)Q.
survive because they cannot run away  ACi7} LfESHOl L2 2XQ2 of{X|2 ot
quickly from danger. 5= O =20 2.

What's more, the sloth’s slow movements LIRsE= MdMEC=2 59| EE AlZtS
help the animal save energy. o= AMEUM 2L
=2 Lot §2E8 RA 7Xs6a.
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Sloths naturally spend most of their time
sleeping.

They also keep their body temperature
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As the sloths burn little energy, they can Mol LBSgs st20| o 7357022 Tojg.
survive with less food. 73, =2l gHolE 20| L2587t ool A
In nature, they mostly eat leaves, twigs, M=zt = 91 &§=90{Q.
and buds. OfOt=, f2|= AtHOM =32 Eot 2 20| 2
An adult sloth eats about 73.5 grams per =+ UCts T2 W22 HIE = A0

day.

In short, being a slow mover has allowed
the sloth to survive in the wild.

Perhaps we can learn a good lesson from
nature: slowness also can be a great

strength.



